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QUESTION 1

Which security service applies rules at the Virtual NIC (vVNIC) level to define the traffic allowed to and from a security
group?

A. Distributed firewall rules

B. Network firewall rules.

C. Network introspection services.
D. Guest introspection services

Correct Answer: A

QUESTION 2

Which is NOT a benefit of virtualized compute over traditional physical hardware for server deployments?
A. Cost

B. Deployment time

C. Security

D. Flexibility

Correct Answer: C

QUESTION 3

Why is VMware NSX the most secure environment against threats and vulnerabilities?

A. Does not require high-end security protocols due to trie isolated arrangements or virtual machines.

B. Offers a threat-free network because each virtual machine is managed by customized security policies.
C. Offers no risk from unrelated streams of data communicating with each other.

D. Handles threats efficiently through the use of alerts and notifications, before any honzontal impact is created to the
adjacent virtual machine

Correct Answer: B

QUESTION 4
What does a Layer 3 VPN service, which is used by a remote client, use to leverage SSL tunnels to

securely connect to private networks behind an Edge Gateway?
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A. SSL VPN-Edge services
B. SSL VPN-Gateway services
C. SSL VPN-Core services
D. SSL VPN-Core services

Correct Answer: A

QUESTION 5

Which mode does the NSX Edge router use to connect to the logical network for load balancing?
A. One arm

B. Transparent

C. inline

D. Custom

Correct Answer: A
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